

$$g \circ f(x) = \left\{ x \in \mathbb{R}^n \mid Dg(x) \in \mathbb{R}^n \right\}$$

$$Df(x) = n-1 \Rightarrow n-1 = 1 \Rightarrow n=2$$

$$\sqrt{-(n-1)^2} = y(x) \Rightarrow Dg(x) = 1$$

$$\Rightarrow \boxed{Dg \circ f = 1}$$

$$f \circ g(x) = 2x^2 - 4x + 14 - 2 = 2x^2 - 4x + 12$$

$$g \circ f(x) = 2x^2 + 12 - 1 - 4x + 14 + 1 = 2x^2 - 4x + 26$$

$$2x^2 - 4x + 12 = 2x^2 - 4x + 26 \Rightarrow 2x^2 - 4x + 12 = 2x^2 - 4x + 26$$

$$\frac{2x^2 - 4x + 12}{2} = \frac{2x^2 - 4x + 26}{2} \Rightarrow x^2 - 2x + 6 = x^2 - 2x + 13$$

$$x = \frac{1}{2} \Rightarrow g(x) = \frac{1}{2} \left(\frac{1}{2} \right) + 11 = \frac{1}{4} + 11 = \frac{45}{4}$$

$$Df(x) = \frac{1}{2} \Rightarrow \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{4}$$

$$\frac{1}{4} = \frac{1}{4} \Rightarrow \frac{1}{4} = \frac{1}{4}$$

$$f \circ g(x) = 2(2x^2 - 4x + 12) - 1 - 2 = 4x^2 - 8x + 20$$

$$g \circ f(x) = 2x^2 - 4x + 12 - 1 - 4x + 14 + 1 = 2x^2 - 8x + 26$$

$$f(x) = 2x^2 - 4x + 12$$

$$g(x) = 2x^2 - 4x + 12$$

$$f \circ g(x) = 2(2x^2 - 4x + 12) - 1 - 2 = 4x^2 - 8x + 20$$

$$g \circ f(x) = 2x^2 - 4x + 12 - 1 - 4x + 14 + 1 = 2x^2 - 8x + 26$$

$$4x^2 - 8x + 20 = 2x^2 - 8x + 26$$

$$2x^2 = 6 \Rightarrow x^2 = 3 \Rightarrow x = \pm \sqrt{3}$$

$$f \oplus g = q \log_2^n u^r$$

$$g \oplus f = u \log_2^n q^r$$

$$u^r \leq u \log_2^n u^r \leq u$$



$$\frac{0}{1} \leq \frac{1}{r} \leq \frac{r}{r}$$

$$\frac{u^r - 1}{u} = u - \frac{1}{u} \Rightarrow f\left(\frac{u^r - 1}{u}\right) = \frac{u^r + \frac{1}{u} - 1}{u^r} + u - \frac{1}{u}$$

$$f(u) = u^r + u$$

$$Df \cap Rf = [0, 1]$$

$$Df \cap Rf = \left\{ u \in Df, Df \in Rf \right\} \Rightarrow Df \cap Rf = [0, 1]$$

$$Df = [0, +\infty)$$

$$u - u^r > 0 \Rightarrow$$

$$u^r - u \leq 0$$

$$Rf = \{y \mid \exists x, y = f(x)\} \Rightarrow y = u - u^r$$

$$f(f(u)) = 1 - u + f(u) \Rightarrow f(u) = 1 - u^r$$

$$h(g(u)) = u^r + 1 - u^r + u + u - 1 + u = 1 - u^r$$

$$u^r + u - 1 = 0 \Rightarrow u = 1$$

$$u - \frac{1}{u} = 0 \Rightarrow u^2 - 1 = 0$$

$$(u-1)(u+1) = 0$$

$$u = 1 \Rightarrow 4u + 1 = 5 \quad 4u = 0 \Rightarrow u = 0$$

$$u = -1 \Rightarrow -a = 1 \Rightarrow a = -1$$